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QUESTION NO: 1

Which three key benefits does vRealize Operations provide within an environment? (Choose three.)
A. Capacity optimization

B. Service catalog for end users

C. Performance optimization

D. Monitoring and troubleshooting

E. Infrastructure orchestration

F. Provides self-service portal

ANSWER: ACD

QUESTION NO: 2

Users have reported several application VMs are performing very slowly. The system administrator was requested to find out
the source of the problem on both VMs and/or ESXi hosts level. vRealize Operations has not been configured with
Application Remote Collector.

Which action will help the administrator to quickly identify the underlying problem?

A. Under Inventory, select Manage Agent, then select the VMs, and run Remote Checks on ICMP, HTTP checks.

B. Under Report, use Configuration Report - Virtual Machines to list down possible changes that have occurred.

C. Under Administration, choose Configuration, select Object Relationships, and then identify the VMs and ESXi hosts
relationship to generate a correlation of the metric, and finally, isolate the issue.

D. Under Dashboard, choose the out-of-the-box Performance dashboards that displays contention on both VMs and ESXi
hosts.

ANSWER: D

QUESTION NO: 3

An administrator is planning the size of a new vRealize Operations Manager (VROps) platform using the vROps sizing tool.
The output of different configurations and sizing information from the tool were modeled for internal design discussion.

Refer to the exhibit:
Which configuration was sized?

A. High Availability
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B. Continuous Availability
C. Stretched Cluster

D. Fault Tolerance

ANSWER: C

QUESTION NO: 4

An administrator has enabled the allocation model in a policy and set the CPU overcommit ratio to 4:1 for all vSphere
clusters in a vSphere datacenter.

Why would vRealize Operations report that the cluster has 0 days remaining when the actual CPU overcommit ratio is less
than the 4:1 configured value?

A. The allocation model will always report zero remaining capacity when the actual ratio is less than the configured ratio.
B. The allocation model does not account for powered off virtual machines.
C. The CPU demand in the cluster is less than the total CPU capacity.

D. The CPU demand in the cluster is greater than the total CPU capacity.

ANSWER: D

QUESTION NO: 5

A company has just acquired a competitor with a vSphere environment and would like to have the new vSphere environment
also monitored by the company's original three-node vRealize Operations cluster. The vRealize Operations Sizing tool
determines two additional data node, and a remote collector needs to be added to the vRealize Operations cluster.

The nodes are deployed accordingly, and the administrator now needs to create a trust relationship between the cluster and
each of these new nodes.

Which two methods will meet this goal? (Choose two.)

A. Generate passphrases in the administration User Interface of an existing node, and enter them when prompted in each
new node.

B. Click the Add New Nodes button on the Cluster Management page in the product User Interface of an existing node.
C. Use any local or directory user with the Administrator role in vRealize Operations when prompted in each new node.
D. Click the Add New Nodes button on the System Status page in the administration User Interface of an existing node.

E. Use the vRealize Operations root user name and password when prompted in each new node.

ANSWER: AB
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QUESTION NO: 6

Which three steps are required to enable east/west firewall in VMware Cloud Director Tenant Portal? (Choose three.)
A. Click on Data Center Group and create a new Data Center Group

B. Go to Edge Gateways and enable firewall on one of the Edge Gateways

C. Go to Networking and enable Distributed Firewall for one of the Network inside the Network section

D. Activate Distributed Firewall inside the Data Center Group

E. Login to Customer Organization and go to Networking Section of Tenant Portal

F. Enable the firewall in NSX-T

ANSWER: ACD

Explanation:

Reference:https://docs.vmware.com/en/VVMware-Cloud-Director/10.2/VMware_Cloud_Director_Tenant_Portal_Guide.pdf

QUESTION NO: 7

There is a planned project to move some workloads from a company's vSphere environment, which is running in their data
center, to a public cloud. The vSphere environment is being monitored by vRealize Operations. An administrator has been
asked to get a monthly cost estimate for running the workloads in a public cloud.

What are two of the public cloud providers that are supported out-of-the-box in vRealize Operations What-If planning for
public cloud costs? (Choose two.)

A. Microsoft Azure
B. Salesforce Cloud
C. Oracle Cloud

D. Alibaba Cloud

E. Google Cloud

ANSWER: AE

QUESTION NO: 8

A customer is running a 4-node cluster for their Windows and Linux workloads. To keep the licensing costs at a minimum,
the customer only licensed two nodes for Windows and two nodes for Linux within the cluster. Now, the administrator needs
to ensure the workloads only run on their assigned nodes.

What should an administrator configure to achieve this goal?

A. Operational Intent - Clusters
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B. Business Intent - Clusters
C. Operational Intent - Hosts

D. Business Intent - Hosts

ANSWER: C

QUESTION NO: 9

During an upgrade of the vRealize Operations cluster via the Administration Ul, the cluster has failed, and the status has
changed to offline.

Which remediation strategy should be used to manage this problem and continue the installation process?
A. Manually take the cluster offline, and then select Rollback Installation.

B. Manually bring the cluster online, and then select Rollback Installation.

C. Manually take the cluster offline, and then select Finish Installation.

D. Manually bring the cluster online, and then select Finish Installation.

ANSWER: D

QUESTION NO: 10

Which actions can be performed on vSphere virtual machine from vRealize Operations Product Ul? (Choose three.)
A. Create virtual machine snapshot

B. Delete virtual machine snapshot

C. Move virtual machine

D. Add virtual disk

E. Expand virtual disk

F. Add vCPU

ANSWER: ABE
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